


SAMPLE ANSWERS AND EXAMINER’S REPORT 

QUESTION 16 

TOTAL POINT VALUE: 1.75   LEARNING OBJECTIVE(S): C1  

SAMPLE ANSWERS 

Sample 
Total income = U/W income + Inv. Income 
 
U/W income = NEP – Net loss – expenses 
 
NEP = GEP – ceded EP 
        = 450,000 – (.05 + .02) 450,000 
        = 418,500 
 
Net losses = 525,000 – min(450,000, 200,000 – 450,000(.2)) 
                   = 525,000 – 110,000 
                   = 415,000 
 
Expenses = 100,000 
 
Inv Income = (700,000 + 100,000 – (.05 + .02)(450,000)) (.05)  
                     = 38,425 
 
Total Income = 418,500 – 415,000 – 100,000 + 38,425 
                         = ‐58,075 
 

EXAMINER’S REPORT 

Candidates were expected to know how to calculate underwriting income including how to 
calculate net earned premiums and net losses based on the catastrophe reinsurance treaty, as 
well as how to calculate investment income.  
 
Common errors included: 

 Calculating covered losses of $110,000 incorrectly 

 Assuming the catastrophe treaty applies to all losses, not just those from the catastrophic 
event 

 Not accounting for the reinstatement premium (2% of $450,000) 

 Not using cash as investment in the investment income calculation 

 Not reducing cash and bonds by the ceded premium and reinstatement premium 

 Calculating net income incorrectly, for example: 
o Not including expenses 
o Not including investment income 
o Including assets 

 

 

   


